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Example 1 Determine Whether a Relation Is a Function

For each pair of relations, decide which relation is a function
and which is not a function. Explain your choice.

Example 3 Graphing Linear Functions

Skye has a cell phone plan for a monthly fee of $20 plus 15¢
for each text message to or from a number not on a list of

a) A B Noy a {\\ML\IM. favourites. Skye’s monthly bill can be modelled by the relation
y ) y
‘ Raathoa voadus o« C=0.15n + 20, where C is the total charge, in dollars, and n
j ‘ VETS . \"Mu"‘“*“‘?u is the number of additional lext messages.
—-— Y% eat\ ( by O %) a) Write the relation in function notation.
‘ Vx \ (»Is[ 2 \ b) Make a table of values. Graph the function if Skye sends up
‘ vo«\:l‘ld 9 to four additional text messages.
3 ¢) If Skye’s cell phone bill for a certain month is $22.25, how
b) C D many additional text message charges are there?
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The function F(C) = 1.8C + 32 is used to convert a tempe.rul:g)e in ‘,1’7 EEELE
degrees Celsius (°C) to a temperature in degrees Fahrenheit (°F). AR ] Rkl \‘ Slm/
a) Determine F(25). Explain your answ&ler,. b ) 22.2% 2228 = 0.\5n '}@3 Srl(\!E RS
b) Determine C so that F(C) = 100. Explain your answ RN £ o/ ‘\ 3
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